ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2021
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

BASICS OF HUMAN BODY (BHB-1)
TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)

(Objective Questions)

(axgfss u%m)

Attempt each question: 50x2=100
JA® 93 & Sk Q-

(1) Where gaseous exchange in human body takes place -

(a) Lungs (b) Heart

(c) Both (d) None

Tl BT AEE—YSE AT IR | HaT ghdl 8 —

(a) B®S (b) g<a

(c) <i=it (d) Big &
(2) Graveyard of RBC is -

(a) Liver (b) Spleen

(c) Both (d) None

RBC & %98 8—

(a) Iqd (b) welret

(c) <=t (d) Big &1
(3) Biggest organ of human body is -

(a) Heart (b) Liver

(c) Kidney (d) None

AMd IR &1 999 97 3T & —

(a) €<™ (b) IRd

(c) g7® (d) ®1¢ T
(4) Life span of RBCs is -

(a) 120 days (b) 10 days

(c) 20 days (d) None

RBC &7 Sflaqd &Td ghal & —

(@) 120 f&=1 (b) 10 fa=1

(c) 20 fa=1 (d) &g Tl



)

(6)

(7)

(8)

(9)

(10)

Unit of body is -

(a) Organ (b) Tissue

(c) Cell (d) None

IR D IBIE T —

(a) 31T (b) Sa®

(c) Bier (d) &g TEl
Necessary for the absorption of fat soluble vitamins -
(a) Protein (b) Fat

(c) Both (d) None

I8 "o H fat soluble vitamins @ MY & ford masa®d @ —
(a) gIé= (b) g1

(c) <t (d) &g TE1
Participation of fat in food is -

(a) 10% (b) 50%

(c) 35% (d) None

Ao d 991 & FHriar i =f'e —

(a) 10% (b) 50%

(c) 35% (d) BIg T

Cause of atheroscelerosis is -
(a) High Cholesterol

(c) Both

VRIEFARITR T $IRUT 8 —
(@) BIATA BT g1

(c) <=

Site of synthesis of Heme is -
(a) Kidney

(c) Both

T &1 GY¥AYIT HEl ghal & —
(a) 39

(c) <=

(b) High Hemoglobin
(d) None

(b) EITeAfaT &1 g1
(d) &g Tl

(b) Mitochondria
(d) None

(b) ATgCiBIfFAT
(d) &g Tl

The colour of stool will be clay in case of -

(a) Post Hepatic jaundice
(c) Both

Ad &1 37 o BT Ife—
(a) uixe fEifes wnfew
(c) <=l

(b) Pre Hepatic jaundice
(d) None

(b) N—fedfes wnfew
(d) &g &l



(11)

(12)

(13)

(14)

(15)

(16)

Cause of Aplastic anemia may be -

(a) Radiation (b) Benzene toxicity
(c) Both (d) None

TeliRed TNfRAT 819 &1 $1RoT 81 9ddr a—

(a) fafexor (b) a9 fadfiaor
(c) <t (d) &g &1

It is necessary for the absorption of Vitamin B12 in our body -
(a) Bile juice (b) Intrinsic factor
(c) Both (d) None

IR ¥ faerfi@m fl.12 & v & fay s9e1 34971 mavas & —
(a) foa < (b) s f~a® B
(c) <i=it (d) Big &
Clotting of blood is a function of -

(a) Thrombocytes (b) Erythrocyte

(c) Leucocytes (d) None

WG © oW H I8 AG] Pl B—

(a) AT ETERIC (b) sRTERIC

(c) YHIERIT (d) ®dig =gl
Synthesis of Albumin takes place in -

(a) Gall Bladder (b) Liver

(c) Both (d) None

Ui &1 HYAWIT BiaT 32—

(a) e (b) Tpd

(c) <=t (d) &g TE1
Fibrinogen is a -

(a) Vitamin (b) Mineral

(c) Protein (d) None
wrgfaaiform @ —

(a) faeif= (b) FreRa

(c) W= (d) &g T8

“AB” is a type of -

(a) Blood group (b) Tissue

(c) Both (d) None

“AB” T&h IR HI————— -

(a) Xad H9E (b) ®d®

(c) gt (d) d1g T



(17)

(18)

(19)

(20)

(21)

(22)

Agglutinin ‘Beta’ is found in blood group -

(a) ‘A (b) ‘B’

(c) ‘AB’ (d) None
wgfef dier fow wyg @ vad (Blood group) # U SIId 8—
(a) ‘A (b) ‘B’

(c) ‘AB’ (d) ®dig -2l
Essential part of human diet is -

(a) Water (b) Carbohydrate
(c) Protein (d) All

S 3 Ao @ AfEard 3T 23—

(a) STt (b) BIEIEIZRC
(c) WidH (d) |+t

Site of generation of Lymphocytes is -

(a) Lymph nodes (b) Lungs

(c) Both (d) None
forpITICE ST O AT 8 —

(a) ferms@ (b) BHS

(c) <i=it CIEIERE]
Insulin is secreted by -

(a) Liver (b) Heart

(c) Pancreas (d) None

Insulin &T ¥qoT AT 28—

(a) agma 4 (b) gsa A

(c) dfsparsi (d) ®dig -2l
Cause of iron deficiency anemia is —

(a) Malnutrition (b) Hookworm infection
(c) Both (d) None

MR B Bl A IRGAdT &I BRI & —

(a) BEIYOT (b) gHaH Hspwor
(c) <i=it (d) Big &

Site of formation of blood in intrauterine stage is -
(a) Liver (b) Spleen

(c) Lymphnode (d) All

JumaReT ¥ vaqa &1 ffor ghar @ —

(a) Ipd d (b) wier o

(c) formeiis o (d) &+



(23)

(24)

(25)

(26)

(27)

(28)

Albuminisa -
(a) Plasma protein
(c) Both

(b) Enzyme
(d) None

(b) TToITEH
(d) B3 2N

It is essential for the formation of clots of blood -

(a) Bile juice
(c) Both

(b) Fibrinogen
(d) None

Ydd ® o8 @ oIy avas € —

(a) foca <=
(c) <=t

(b) wrsfa=tifom
(d) ®ig =&l

Lymphoid connective tissues are found more in -

(a) Digestive system
(c) Both

(b) Respiratory system
(d) None

forprae D wfed Has Afde a=T § 9 oTd @ —

(a) 9ras d=
(c) g4l

Food for nervous tissues is -

(a) Protein
(c) Both

APT Hadl BT HIvH & —

(a) 9=
(c) <i=ml

(b) Tag= a7
(d) ®1g =Tl

(b) Glucose
(d) None

(b) e[t
(d) B T

Disease which occurs due to lack of protein diet is -

(a) Jaundice
(c) Both

(b) Kwashior
(d) None

o § QI @1 931 o N d g9 9rar AT 2 —

(a) diferar
(c) g4l

Teachers are -
(a) Heavy workers
(c) Sedentory workers

TIPS BlId & —
(a) 2d s B ara

(c) Rre<H a1 &1 aral

(b) Kwashior
(d) ®I$ &

(b) Moderate workers
(d) None

(b) TTeRe B B AT
(d) s &



(29)

(30)

(31)

(32)

(33)

(34)

Colour of blood in vein is -

(a) Purple (b) Scarlet red
(c) Purple red (d) None
AR ¥ ad &1 31 gar 8-

(a) 9+ (b) R~ <t
(c) §h @t (d) &g T8
Total count of Thrombocyte in blood is -

(a) 2.5 + 1.0 lakh/cumm (b) 1 lakh/cumm
(c) 5 lakh/cumm (d) None

Y H AIEINRIE @ Abd 9ET a—

(a) 2.5 + 1.0 lakh/cumm (b) 1 lakh/cumm
(c) 5 lakh/cumm (d) ®dig -2l

Leucocytosis is -

(a) Decrease in Leucocyte count

(b) Increase in Leucocyte count

(c) Both (d) None
gprargciRE &1 aread 2—

(a) PR T DI AT ST Gl

(b) SgHIETST D AT & 91

(c) &Il (d) g Tl

The number of Lymphocyte increase in case of these diseases is -
(a) Mumps (b) Tuberculosis (TB)

(c) Purtusis (d) All

39 U H farpiage @ 9@ 96 kil 8-

(a) 771 (Mumps) (b) TgaRFGAIRE (TB)

(c) wRegfa¥d (Purtusis) (d) g+

In case of allergy they increase in numbers -

(a) RBC’s (b) Eosinophils

(c) Both (d) None

UeToif @ <M d S9d! G196 STl 2—

(a) RBC’s (b) sEIfhaT

(c) <1t (d) ®1g =Tl

Formation of red cells in Mother cells of Bone Marrow takes -
(a) 3 days (b) 4 days

(c) 9 days (d) None

IR @ Hex B 9 sReigre 9949 §— fes ovd 82—

(a) 3 fa= (b) 4 f&=

(c)9 fa=1 (d) ®Ig T8



(39)

(36)

(37)

(38)

(39)

(40)

Shape of RBC is -

(a) Bi-Concave disc (b) Bi-Convex disc
(c) Square (d) None

AT IGABOTHI BT MHR & —

(a) AIE—drd S (b) AIE—Hrda fe&b
(c) AMDIR (d) g Tel
Calcium is transported by -

(a) Passive transport (b) Active transport
(c) Both (d) None
Dfeerd &1 98 8Idl & —

(a) frase 984 (b) afsba ag=
(c) <=t (d) Big &
Cardiac muscles are present in —

(a) Liver (b) Heart

(c) Both (d) None

&< U ol oireft & —

(a) aa A (b) ga@ &

(c) <= o (d) dig TN
Organells present in the cell are -

(a) Nucleus (b) Mitochondria
(c) Golgi Apparatus (d) All

DI F U O ard 3IATD -

(a) d<® (b) ATgCIBIfAT
(c) et YdeH (d) &+

In human body intracellular fluid is -

(a) 80% (b) 40%

(c) 10% (d) None

A TR | ra:hIeNg g & —

(a) 80% (b) 40%

(c) 10% (d) |+t

Fixed deposit of energy is -

(a) Fat (b) Protein

(c) Both (d) None

Soll &1 Gfad 9vsR @ —

(a) aar (b) W=

(c) <r=it (d) &g €l



(41)

(42)

(43)

(44)

(45)

(46)

It orders to divide the cell -

(a) Mitochondria (b) Nucleus

(c) Both (d) None

I BT fA9ToF 370 AR WX BlaT & —

(a) ATgCTHIfgAT (b) D=®

(c) <i=it (d) Big &
Quantity of plasma in blood is -

(a) 55% (b) 20%

(c) 40% (d) None

G H TIoAT DY JET 8§ —

(a) 55% (b) 20%

(c) 40% (d) BIg T&F
Appendix is a part of -

(a) Large Intestine (b) Small Intestine
(c) Stomach (d) None
wfsqw fawar @ —

(a) 9T 31d BT (b) BIET 3T &1
(C) SITHTI BT (d) dIg =&l
Plasma proteins are -

(a) Albumin (b) Globulin

(c) Both (d) None
AT T WA & —

(a) e fi (b) TeTgfer

(c) <t (d) &g TEl
Colour of blood is red due to -

(a) Bile juice (b) Hemoglobin
(c) Both (d) None

YT BT ATl I 3D HRYT Bl & —

(a) fueT w9 (b) EiTatfaa
(c) <=t (d) Big &1
Normal value of Hemoglobin in blood is -

(@) 14 +1gm% (b) 10 + 1 gm%
(c) Both (d) None

Yad # ST & G WA 8 —

(a) 14 + 1 gm% (b) 10 + 1 gm%

(c) <r=it (d) &g L



(47)

(48)

(49)

(50)

The pH of blood is -
(a) 8.6

(c) 5.5

Xaqd T pH & —
(a) 8.6

(c) 5.5

Functions of blood
(a) Defence

(c) Transportation
ad D B & —

(a) gR&T <1

(c) g BT

B-Lymphocytes are -
(a) Humoral immunity
(c) Both
fi—ferpivmae 2 —
(a) AR A
(c) gl

Reservoir of blood is -
(a) Spleen

(c) Both

Ydd &1 Reservoir 8 —
(a) wliaT

(c) <=t

(b) 7.9
(d) None

(b) 7.9

(d) B¢ TEl

(b) Cogulation

(d) Al

(b) Y@ BT STHTT
(d) &+

(b) Cellular immunity
(d) None

(b) AeR sHAA
(d) ®I$ e

(b) Stomach

(d) None

(b) 3T
(d) &g TE1



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2021
ASPEUS CORRESPONDENCE COURSE-SEM - 1(CAHS)

CHINESE ACUPRESSURE (CA-1)
TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (I¥fTs3 Y)

Attempt each questions: 50x2=100
Jd® Yl @ S} Q-

(1) Rt hand correspondence will be in -

(a) Rt Ring Finger (b) Rt Index finger
(c) Lt Index Finger (d) None
B &1 AIGYT ST —

(a) <Y ST # (b) <rfY aoi=ft &

OERIEKERIE (d) ®Ig 1l
(2) “Eye opening” related element is -

(a) Metal (b) Wood

(c) Earth (d) None

“Eye opening” ¥ gHf&d dd@ & —

(a) =g (b) @13

(c) gedft (d) B T
(3) “Wood element” related emotion is -

(a) Sadness (b) Anger

(c) Joy (d) None

‘BIS ad’ d gHEfed A9 8—

(a) & (b) soier

(c) =i (d) dig &l
(4) 1-10 Age related element is -

(a) Wood (b) Fire

(c) Metal (d) None

1-10 9 & U ¥ gHafea a@ & —

(a) PIs (b) 3

(c) &g CIEIEIRE]



(5) Secondary correspondence of Lt leg will be in -

(a) Lt Thumb (b) Lt Index finger

(c) Lt Ring finger (d) None

I R @1 fgda wgea s —

(a) 9141 3(I[ST OEIRIEEE

(c) srfi aFTfiaeT (d) &g T8
(6) Last point of UB Meridian is near -

(a) Mouth (b) Big toe

(c) Small toe (d) None

UB 98fesas o1 siffas fag —— @ @ —

(a) 4 (b) 4R & IS

(c) 4R & BI<T ATl (d) &g T8
(7) Total point in K Meridian are -

(a) 44 (b) 27

(c) 14 (d) None

K Meridian % @ fag & —

(a) 44 (b) 27

(c) 14 (d) ®I$ &
(8) Heat point of GB meridian is -

(a) 42 (b) 44

(c) 43 (d) None

GB #ifsua & Heat fa=g ¥

(a) 42 (b) 44

(c)43 (d) &g T8
(9) Luo- connecting point of Lung Meridian is -

(@) Lu-8 (b) Lu-7

(c)Lu-9 (d) None

Lung Meridian @&T Luo-connecting Point & —

(@) Lu-8 (b) Lu-7

(c)Lu-9 (d) &g L



(10)

(11)

(12)

(13)

(14)

(15)

Distal point for Chest is -

(a) Sp-6 (b) Lu-7
(c)P-6 (d) None
BTl &1 greeT fag 2—

(a)Sp-6 (b) Lu-7
(c)P-6 (d) ®dig -2l
Related to brown colour is -

(a) Water (b) Metal
(c) Earth (d) None
T ¥ @ gHEfed @ —

(a) STat (b) &Tg

(c) gedi (d) dig =&l
Wind point of Lungs meridian is -

(a) Lu-11 (b) Lu-10
(c)Lu-8 (d) None
Lungs meridian &T Wind point 8 —

(a) Lu-11 (b) Lu-10
(c)Lu-8 (d) ®dig -2l
Which meridian starts from big toe -

(a) Liver (b) Spleen
(c) Both (d) None
R IS ¥ Yo B4 arell A0fsTT 8 —
(a) IRd (b) wefrat
(c) _r=l (d) &g T8
“‘Humidity point” of St meridian is -

(a) St 44 (b) St 36
(c) St45 (d) None

St meridian &1 Humidity point 8 —

(a) St44 (b) St 36
(c) St45 (d) ®dig -2l
Organ source point of Heart meridian is -
(@H-9 (b)H-7
(c)H-6 (d) None
Heart meridian @1 Organ source point 28—
(@)H-9 (b)H-7

(c)H-6 (d) dIg 1Y



(16)

(17)

(18)

(19)

(20)

(21)

Front Shu point of Sp Meridian is -

(@) Cv-5 (b) Cv-13
(c)Cv-8 (d) None
Sp Meridian &T Front Shu point 8—

(a) Cv-5 (b) Cv-13
(c)Cv-38 (d) BIg -2¥
Primary correspondence of Appendix is on-
(a) Lt palm (b) Lt sole
(c) Rt palm (d) None
wfr e &1 Y1afie SuaR 28—

(a) 9l gl W (b) 9 dqd WX
(c) TR gl wR (d) BIg T2
Body hair related element is -

(a) Water (b) Metal
(c) Wood (d) None
IR B 91d 9 wEfEa aa a—

(a) Stet (b) &g

(c) BT (d) B =&l
Xi-Cleft point of Kidney is -

(a) K—6 (b)K-4
(c)K-5 (d) None
gad &1 Xi-Cleft farg @ —

(@) K-6 (b) K - 4
(c)K-5 (d) B TN
Yang organ is -

(a) Liver (b) Spleen
(c) Gall Bladder (d) None
Yang organ &—

(a) TgHq (b) wefret
(c) facarera (d) ®dig -2l
Back Shu point of Liver meridian is -

(a) uB -18 (b)uB - 17
(c)UB - 25 (d) None
Liver meridian &1 Back Shu point 28—
(a)uB - 18 (b) UB - 17

(c) UB - 25 (d) &g e



(22)

(23)

(24)

(25)

(26)

(27)

Joy emotion related element is -

(a) Earth (b) Wood
(c) Fire (d) None
el 79T 9 aefaa d@ @ —

(a) gedi (b) ®res

(c) arf¥ (d) &g TEl
Energy of TW meridian is -

(a) Hotness (b) Wind
(c) Coldness (d) None
TW meridian @ &uif 28—

(a) FaR ST (b) Ty

(c) eNaerar (d) dig =&l
Musk smell related element is -

(a) Earth (b) Fire

(c) Wood (d) None
FE Wed 9 ghud ad 8-

(a) gedt (b) arf¥

(c) &3 (d) &g T8
Tonification colour of St-36 is -

(a) Green (b) Yellow
(c) Red (d) None
St-36 @Y SHoll 98T aTelT 3T 2—

(a) &1 (b) dra

(c) <ret (d) &g Tl
Coldness energy related element is -

(a) Wood (b) Water
(c) Metal (d) None
Coldness energy ¥ wwfd dad 8—

(a) ®rYS (b) oiet

(c) &g (d) &g L
Metal element related season is -

(a) Autumn (b) Winter
(c) Summer (d) None
gTg dd 9 gyafea daw 2—

(a) gasrs (b) SITST

(c) Tt (d) &g 1Y



(28) Horary point of Small Intestine meridian is -

(a) Si-4 (b) Si-6

(c)Si—-3 (d) None

Small Intestine meridian &1 Horary fa=g 8 —

(a) Si-4 (b) Si-6

(c)Si—-3 (d) &g T8
(29) Luo-connecting point of Liver meridian is -

(@) Liv-5 (b) Liv-4

(c)Liv-3 (d) None

Liver meridian ®T Luo-connecting point 8—

(a) Liv-5 (b) Liv-4

(c) Liv-3 (d) ®Ig e
(30) Coldness point of Kidney meridian is -

(@) K-3 (b) K - 10

(c)K-7 (d) None

Kidney meridian &1 Coldness fa=g 8-

(a) K-3 (b) K-10

(c)K-7 (d) &g T8
(31) Related to yellow colour is -

(a) Water (b) Earth

(c) Fire (d) None

frar 37 4 wefaad —

(a) oTet (b) gAY

(c) arf= (d) g Tl
(832) Which meridian starts from Small finger —

(a) Liver (b) Small Intestine

(c) Heart (d) None

BIcI ATl 9 YO B arell AT 2 —

(a) Ihd (b) BIEY ana

(c) gsa (d) B =Tl
(33) Cv —14is front shu point of -

(a) Heart (b) Kidney

(c) Lungs (d) None

Cv — 14 Front Shu point 8 —

(a) Heart &1 (b) Kidney &1

(c) Lungs &1 (d) ®dig -2l



(34) Salty taste of Mouth is related to -

(39)

(36)

(37)

(38)

(39)

(a) Kidney (b) Lungs
(c) Spleen (d) None
iz & TP Wik 4 ¥HEfad & —

(a) Kidney (b) Lungs
(c) Spleen (d) dig &N
Energyof H-9'is -

(a) Humidity (b) Heat

(c) Wind (d) None
H-9 & Suf & —

(a) Humidity (b) Heat

(c) Wind (d) &g T8

Controller organ of GB is -
(a) Kidney

(c) Large Intestine

GB &1 a3 ® 3T 23—
(a) 39

(c) 9 3

UB — 23 is back shu point of -
(a) Liver

(c) Lungs

UB — 23 Back shu point 8—
(a) Liver &1

(c) Lungs &I

Bone meeting point is -
(a) UB - 11

(c)uB --12

Bone meeting point 8—
(a) UB - 11

(c)uB --12

(b) Stomach
(d) None

(b) JMHRI
(d) ®I$ &
(b) Kidney
(d) None

(b) Kidney &1
(d) ®I$ &Y
(b) UB - 13

(d) None

(b) UB - 13
CIEIEIRE]

3 Am to 5 AM time is related to -

(a) Small Intestine
(c) Kidney

(b) Lungs
(d) None

3AM ¥ 5 AM 99g 9 gwfed 32—

(a) BICY ema
(c) g

(b) B
(d) ®1¢ T



(40)

(41)

(42)

(43)

(44)

(49)

Correspondence of neck will be in -

(a) Middle finger (b) Thumb
(c) Index finger (d) None
TS ST G ST —

(a) w=gHT (b) 3MgaT
(c) aroi+i (d) &g TE1
Tongue opening is related to -

(a) Liver (b) Heart
(c) Kidney (d) None
Tongue opening T fed & —

(a) aghd & (b) gsa A
(c) 9a® 4 (d) BIg T
Agony emotion related element is —

(a) Fire (b) Earth
(c) Wood (d) None.
foar w=TvT @ aefEa a@ @ —

(a) arf¥ (b) et

(C) ®T3 (d) B3 -2l
Sedation colour of H-8 is -

(a) Black (b) Green
(c) Red (d) None
H-8 &1 Soll gcH ardr I 2—

(a) @relt (b) &1

(c) <ret (d) ®Ig =Tl
Belching symptom is related to element -
(a) Metal (b) Fire

(c) Wood (d) None
SHR A& 8 EfeEa aa a—

(a) &1g (b) arf¥

(c) BT (d) &g T8
Front Shu point of Kidney is -

(a) GB - 25 (b) Liv-13
(c)K-25 (d) None
ga@ &1 Front Shu point 38—

(a) GB - 25 (b) Liv-13

(c)K-25 (d) &g L



(46)

(47)

(48)

(49)

(50)

Tonification colour of GB —40 is -

(a) Black (b) Red

(c) Brown (d) None
GB — 40 @1 ol 9™ areT 3T 2—

(a) @raT (b) <red

(c) T (d) BIg T
Total points in TW meridian are -

(@) 23 (b) 20

(c) 21 (d) None
TW #dfema 4 ga fag 2

(a) 23 (b) 20

(c) 21 (d) &g T8
Season related to Dryness is -

(a) Spring (b) Rainy
(c) Autumn (d) None
ehar A gHfEd @aw @ —

(a) I9d (b) aui

(c) uasrs (d) ®1$ =7
Passage point of Spleen is -

(a)Sp-6 (b) Sp -4
(c)Sp-5 (d) None
Spleen &1 Passage point 8 —

(a)Sp-6 (b) Sp - 4
(c)Sp-5 (d) ®1g =Tl
In Su-Jok Su means -

(a) Leg (b) Thumb
(c) Hand (d) None
Su-Jok § Su &1 aref 8-

(a) T (b) et

(c) &fx (d) iz TN



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2021
ASPEUS CORRESPONDENCE COURSE - SEM -1 (CAHS)

AYURVEDIC ACUPRESSURE (AA-1)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (I¥fTs3 Y)
Attempt each questions: 50x2=100

gd® 9 d SR
(1)  Which energy is related to Aakash -

(a) Touch (b) Radiance
(c) Sound (d) None
JATHTL B Holl T & —
(a) Tt (b) ®4
(c) IIsg (d) BIg T

(2) In Ayurveda, meaning of ‘ved’ is -
(a) Life span (b) Knowledge
(c) Mantra (d) None
‘Agde’ g § ‘9’ BT e © —
(a) SfrasT &1 (b) ==
(c) w3 (d) ®Ig =Tl

(83) As per Ayurvedic biological clock, time of ‘Pitta-Pitta’ is -
(@) 10 am - 2 pm (b) 8 pm-12 pm
(c) 4am -8 am (d) None
IREfE® ST a9 & aR ‘fia—R &1 99g shn—
(@) 10 am -2 pm (b) 8 pm-12 pm
(c) 4 am-8am (d) dIg =&Y

(4) Correspondence of ‘Mouth’ is in -
(a) IF (b) MF
(c) Thumb (d) None
‘HE BT ATGYT & —
(a) o= (b) weTsT

(c) 3faT (d) g T



)

(6)

(7)

(8)

(9)

‘Adipose’ is -

(a) Tissue (b) Organ
(c) Element (d) None
AT B —

(a) &g (b) sraaa
(c) ad (d) ®Ig 81
Element related to Liver is -

(a) Akash (b) Vayu

(c) Agni (d) None
Jhd ¥ gEfug a@ @ -

(a) 3THT (b) arg

(c) arfis (d) &g L
Which one is Metaphysical element -

(a) Kaal (b) Vayu

(c) Agni (d) None
wifae o @ —

(a) ®ret (b) arg

(c) 3 (d) B &l
‘Vaat Dosh’ related number is -

(a) 3+4 (b) 4+5

(c) 1+2 (d) None
qrd <IY grafea e g —

(a) 3+4 (b) 4+5

(c) 1+2 (d) BIg T
Number related to element ‘Mann’ is -

(a) 6 (b) 7

(c)8 (d) None
A9 a0 gHfeEd e 8 —

(@) 6 (b) 7

(c)8 (d) ®Ig T8l



(10) Kidney organ related element is -

(a) Jal (b) Agni

(c) Vayu (d) None

9% IYqId FHEfEd ad 23—

(a) orad (b) arf¥q

(c) ary (d) BIg T
(11) Physical element is -

(a) Disha (b) Agni

(c) Kaal (d) None

wifas a@ 3

(a) fa=m (b) arf¥q

(c) ®TaA (d) B3 -2¥
(12) Left shoulder tulyarthata will be -

(a) Lt RF K jt (b) Rt MF K jt

(c)LtIF Kt (d) None

9 HY B gedrefar sfi —

(a) Lt RF K jt (b) Rt MF K jt

(c) LtIF K jt (d) &g T8
(13) LtIF Vjtrelated organis -

(a) UB (b) St

(c) GB (d) None

Lt IF V jt wwafaa 3aaa @ —

(a) uB (b) St

(c) GB (d) ®1g =Tl
(14) ‘Bone Marrow’ tissue related jt is -

(a) Lt RF P jt (b) Rt RF P jt

(c)LtIF P jt (d) None

ool aTg aHfEd i @ —

(@) LtRF P jt (b) Rt RF P jt

(c)LtIF P jt (d) ®ig T8
(15) Cortical brain is plotted on -

(a) Rt MF (b) Rt Thumb

(c) Lt Thumb (d) None

Fifdwpa 99 Rera 3—

(a) <rfa=it wegn (b) <T™T JATST

(c) IR BT (d) ®Ig T80



(16)

(17)

(18)

(19)

(20)

(21)

Rt RF V jt related organ is -
(a) St

(c)uB

Rt RF V jt =R 3rauq Rera 8-
(a) St

(c)uB

Disha is -

(a) Physical element
(c) Both

foem @ —

(a) #ifas dw@

(c) gl

Touch is the energy of -
(a) Vayu

(c) Akash

3t =T/ Sl 2—

(a) a1g
(C) SITHTIA

Pitta dosh related number is -
(a) 1+2
(c) 3+4
o gy gwfag sie @ —
(a) 1+2
(c) 3+4

Rt MF related number is -
(@7

(c)6

Rt MF wwafed e 8 —
(@7

(c)6

(b) GB
(d) None

(b) GB
(d) BIg &1

(b) Metaphysical element

(d) None

(b) wRrHifa® d@

(d) ®I$ &
(b) Agni

(d) None
(b) a1l

(d) ®I$ TEX
(b) 4+5

(d) None

(b) 4+5
(d) dig TN

(b) 8
(d) None

(b) 8
(d) iz TN

Tulyarthata of Throat will be on -

(a) Middle finger

(c) Thumb

Tl @Y goarefar sifi—
(a) wegHT

() ST

(b) Ring finger
(d) None

(b) 3T AT
(d) B3 -2X



(22) LtIF Kjt related organ is-

(23)

(24)

(25)

(26)

(27)

(a) Kidney
(c) Liver

Lt IF K jt Safera 3r@auq 8 —

(a) g7
(c) T

Plasma tissue related joint is -

(a) Rt IF P jt

(b) Heart
(d) None

(b) g™
(d) &g Tl

(b) Lt RF P jt

(c) Rt RF P jt (d) None

W o1 gy o & —

(@) RtIFPjt (b) Lt RF P jt
(c) RtRF P jt (d) &g T8
Number related to Atma is -

(@7 (b) 8

()9 (d) None
AT GHfEd id 8—

(@7 (b) 8

(c)9 (d) ®dig -2l
Element related to Lt Middle finger is -

(a) Kaal (b) Disha

(c) Mann (d) None
Irff wer gwfad aua 2—

(a) &1l (b) fe=m
(c)\= (d) ®Ig =Tl
As per the sense organ, ‘Ear’ will be plotted on -
(a) LtIF (b) Rt SF

(c) Rt RF (d) None
AMfET @ ITUR HF Rerd 23—

(a) 9rfY doi-il W (b) srfer sFfRs®T W=
(c) <R 3FT®T WR (d) ®dig -2l
Element related to Mid brain is -

(a) Mann (b) Disha

(c) Tam (d) None
ey ARass 9 gHEfad 9@ @ —

(a) 54 (b) fa=m
(c)aq (d) ®Ig =Tl



(28)

(29)

(30)

(31)

(32)

(33)

Finger related to Akash is -

(a) Lt SF (b) Lt IF
(c) Rt SF (d) None

JATHIY dcd FHEfEa ATl 8 —

(a) 9rfi wffRs®r (b) arfi aoir
(c) <Y wfafs®r (d) dig &l
Pons will be plotted on -

(@) Lt RF K jt (b) Lt MF V jt
(c) Rt RF V jt (d) None

iw Rera 28—

(@) LtRFKjtax (b) Lt MF V jt OR
(c)RtRFV jtu= (d) &g T8
Kaph dosh related number is -

(a) 4+5 (b) 3+4

(c) 1+2 (d) None

$% T GHEfEd 3AH a—

(a) 4+5 (b) 3+4

(c) 1+2 (d) |+t
Nervous system related finger is -

(a) Rt RF (b) Lt RF

(c) LtIF (d) None.

Y aF gHfEa e 8 —

(a) arfe=lt IrTfDT (b) 9T ITRABT
(c) arfi doi+h (d) BIg T
Which magnet is used for tonification of energy —
(a) Yellow byol magnet (b) Both

(c) White byol magnet (d) None

ol 96 @ foad &9 |1 Ee gInT A —
(a) frem =aie AT (b) <Y

(c) a®g =id AT (d) B3 2N
Which energy is related to Aim/Moto -

(a) Disha (b) Mann

(c) Atma (d) None

e’ rfEd ol & —

(a) feem (b) 54

(c) 3rreHn (d) &g e



(34) Which organ is plotted on Lt SF V jt -

(a) Li (b) Si

(c) St (d) None

Lt SF V jt uX 3rquq fRerd 8—

(a) Li (b) Si

(c) St (d) ®Ig =Tl
(35) In balance diet which content is maximum -

(a) Protein (b) Fat

(c) Carbohydrate (d) None

dgferd smerR’ 4 a9 It feaa) am=r idl @ —

(a) wrdH (b) g

(c) wEiglgRc (d) ®dig -2l
(36) What is the base of metabolic function in body -

(a) Vaat (b) Pitta

(c) Kaph (d) None

FaTIgy fhame &1 MR 28—

(a) arq (b) faa

(c) ®® (d) 1% T
(37) Determination energy relates to -

(a) Disha (b) Agni

(c) Mann (d) None

Abcu ol fod a@ 4 awafea 8-

(a) fa=m (b) arf¥q

(c) a1 (d) 1% T
(38) Which force have maximum stability -

(a) Kaph (b) Vaat

(c) Pitta (d) None

foa g 9 waffere Rerar 2-

(a) o® (b) ara

(c) faca (d) 1% T
(39) During 4™ month of pregnancy which finger should be treated -

(a) F.No.2 (b) F.No.3

(c) F.No.4 (d) None

gl @& died 718 | 69 Al 4 IuAR BT A1y —

(a) F.No.2 (b) F.No.3

(c) F.No.4 (d) Big &N



(40) For treatment of Rt upper 5-6 teeth, which nail chakra should be taken -

(a) Rt RF NCH (b) Lt RF NCH

(c) Lt IF NCH (d) None

Rt upper 5-6 id & SUAR =] f$¥ T@ % WX IUAR AT AMEY—

(a) Rt RF NCH (b) Lt RF NCH

(c) LtIF NCH (d) &g T8
(41) Which is a type of tri-sutra -

(a) Vaat (b) Hetu sutra

(c) Pitta (d) None

B &1 & yeR @ —

(a) ara (b) 8¢ A

(c) faca (d) &g TE1
(42) Thalamus gland is located on —

(a) IF (b) MF

(c) Thumb (d) None.

daw U Rera @ —

(a) aoiht 4= (b) wiET T R

(c) IS W (d) &g T8
(43) Which is a common attribute -

(a) Method (b) Dryness

(c) Stability (d) None

AT T[0T B—

(a) gfaa (b) o&rar

(c) Rerar (d) ®dig -2l

(44) Flow of vertical meridians are -

(a) Right - Left (b) Top - Bottom

(c) Both (d) None

THaq Ald BT YdT8 a—

(a) qIY—aTY (b) Sux—id

(c) ==l (d) dig TN
(45) How many types of sense organs are -

(@) 3 (b) 4

()5 (d) None

Frfeal & fead yaR -

(a) 3 (b) 4

(c) 5 (d) ®Ig T8



(46) Joint related to blood tissue is -

(a) Lt IF P jt
()Rt IF P jt

Fd g1g giEa s —

(b) Rt RF P jt
(d) None

(@Q)LtIFPjt (b) Rt RF P jt

(c)RtIFPjt (d) &g T8
(47) Rt SF V jtrelated organis -

(a) Si (b) Li

(c) St (d) None

Rt SF V jt ux fRerqd 3@ua =z—

(a) Si (b) Li

(c) St (d) &g TE1
(48) Action organ ‘Speech’ is related to -

(a) Disha (b) Mann

(c) Kaal (d) None

areft ey wafaa 9@ 23—

(a) feem (b) w1

(c) ®ret (d) &g TE1
(49) Which is a physical element -

(a) Disha (b) Mann

(c) Vayu (d) None

wifas 9@ 8 —

(a) faem (b) W

(c) ary (d) BIg T
(50) Pituitary gland is located on -

(@) LtIF (b) Lt MF

(c) Lt RF (d) None

freged 71 Rera 2—

(a) erff IS+ = (b) ST HegHT TR

(c) =Tl 3rfieT wR (d) dig TN



